MAT 1500 (Dr. Fuentes) Worksheet 2 - Sections 1.4, 1.5, & 2.1
SOLUTIONS

Section 1.4: Exponential Functions

Problem 1. Use the Laws of Exponents to rewrite and simplify each expression
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Problem 2. Find the domain of each of the following functions.

@) f(0) = o, (b) g(x) = b %
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Section 1.5: Inverse Functions and Logarithms

Problem 3. Determine whether the following function is one-to-one. If it is on-to-one, then find a
formula for the inverse of the function and draw the graphs of both f and f~1.

f(x) =3In(x —2).
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Problem 4.
(@) Use the laws of logarithms to expand log, ( {/*(3:_—13)2> ;

(b) Express as a single logarithm: In(x +2) + 2In(x? — 5x + 6) — 2In(x + 1).
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Section 2.1: The Tangent and Velocity Problems

Problem 5. Suppose that a ball is dropped from the upper observation deck of the CN Tower in
Toronto, Canada, 450 m (meters) above the ground. Find the velocity of the ball after 5 seconds.
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